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(1) A+B=(2x%+3x—1)+(4x2—5x—6)

=2+4)x>+(3-5)x+(—1-6)
=6x2—2x—7

A—B=(2x24+3x—1)—(42*—5x2—6)
=(2424+3x—1)+(—42%4+52+6)
=2—9)x*+(3+5)x+(—1+6)
=—2x248x45

(2) A+B=(4x°*—3x%—2x+5)+(24°—3x247)

=(44+2)x3+(—3-3)x2—2x+(5+7)
=6x°—6x2—2x+12

A—B=(4x°—3x%—2x4+5)— (243 = 3x%4+7)
=(4x%—3x2—2x4+5)+(—2x°+3x2-7)
=(4—2)2°+(=3+3)x%—2x+(5-7)
=2x3—2x—2
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(1) 2a*x4a’=(2x4)Xa’*?=8a’

2) 3xlyx(—2x%y2)={3X(—=2)} X x2+3x y!+?
=—6x%y°

(3) (=3x%9)°=(—-33%x(x)°x y3=—2745y°

[®E9]
(1) 4x%2x%—3x+45)=4x%-2x%4+4x%-(—3x)+4x%-5

=8x'— 122342042

2) (2x—1(4x%4+3)=2x-(4x%+3)+(—=1)- (4x%+3)
=8x°+6x—4x2—3
=8x°—4x24+6x—3
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1) (2x*+x-3)(x—2)
=222+ x—3)x+ (222 +x—3)-(—2)
=243+ 2?2 —3x—4x®>—2x4+6=2x°—3x>—52+6
2) (x®—x+3)(x2—x—14)
=(x2—x4+3)x%+ (22— x43)-(—x)
+(x2—x+3)-(—4)
=x'— P+ 32— 23+ 22 —3Bx—dx’+4x—12
=x4=2x%4+x—12
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1) 2A—x%4+x—3)—3(x*+4x+2)
=242 42x—6—-3x2—12x—6=—522—10x—12

2) (a+1(a’+2)—(a’—a+6)
=(a+1)a’+(a+1)-2—a’+a—6
=a’+a’+2a+2—a’*+a—6=a’+3a—4
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A+B+2A—-B)=A+B+2A-2B=3A—-B

=3(x244x—3)—(2x2—x+4)
=3x24+124—9—2x%4+x—4
=x2413x—13
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1) (2x+5°%=(2x)2%+2-2x-5+52=4x%4+20x+25

(2) (22—39)2=(2%)%—2-2x-3y+(3y)?
=4x2—12xy+9y?

(3) (5x+4y)(5x—4y)=(5x)2—(4y)*=25x2— 16"

4) (x+1)(x+5=x2+(14+5x+1-5=x2+6x+5

() (x—3)(x+8) =x>+(—3+8)x+(—3)-8

=x245x—24

6) (x—y(x—dy)=x"+(—y—4y)x+(—p)(—4y)
=x2—5xy+4y?
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1) 2x+1)(4x+5=2-4x2+(2-5+1-4x+1-5
=8x2+14x+5

2) (x+4)(2x—3)=1-2x2+{1-(=3)+4-2}x+4-(=3)
=2x2+45x—12

@) (x+3y(2x—y)
=1-2224{1-(—y)+3y-2}x+3y-(—y)
=2x%+5xy—3y°

4) (3x—2a)(4x—3a)
—3-4x24(3-(=3a)+(—24)- 42 +(—2a)-(—3a)
=1242—17ax+6a*
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1) (2x—3)22+1)=(2x)%+{(=3)+1}-2x+(=3)-1
=4x2—4x—3

(2) (2x—3)2x2+3)=(2x)>—3%=4x2—9

(3) (x+8y)°=x24+2-x-8y+(8y)?=x%4+16xy4 64>





